VERBS:
1)Tense = time and kind of action



2)Voice = is the subject acting or being acted upon?



3)Mood = is the event factual, fantasy, a command, etc

present tense: The event is happening now and is continuous (i.e.- I am running)

active voice: The active means that the subject is doing the action of the verb



(i.e.- John is eating)

indicative mood: this means that the statement is true, it is a fact

In English we have a verb (run) and we “personalize” it with “I” “you” etc.

In Greek an  at the end of a verb (such as is identical to “I”

An means “you”…means he/she/it…and so on

So   means to run…so  means “I am running” and means “You are 


running”…and so on

Your endings on pg. 8 are for the Present Indicative Active endings.  





























These are 1st: sing.   plural 


2nd:sing. plural: etc.

but these are not the only 1st, 2nd, and 3rd endings.  When you change tense, voice and mood these endings change as well.  So you should be able to not only reproduce this chart, but recognize  as “You are…” Present Ind. Active 2nd singular.

So whatever verb you take, if you put on the end it will mean “You are….doing something”   to run
you are running



to loose

you are loosing



to write (or I am writing)
You are writing

Principle parts and accents we’ll cover later…

To say NO (I am not running – or – I am not loosing) you put  in front of the verb


If the verb starts with a vowel (I go) then  “”will be used


If the vowel has a rough breathing mark (I am finding) then use 

